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Cuadro 13 (continuación 5)/Table 13 (continued 5)
Honduras: tablas abreviadas de mortalidada

Honduras: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.039 0.038  100 000  3 758  96 957 0.957 b 6 807 373 68.1
1 4 0.004 0.015  96 242  1 471  381 372 0.988 c 6 710 415 69.7
5 5 0.001 0.006  94 770   560  472 452 0.995 6 329 043 66.8

10 5 0.001 0.004  94 210   423  469 995 0.994 5 856 591 62.2
15 5 0.001 0.007  93 787   692  467 208 0.991 5 386 596 57.4
20 5 0.002 0.010  93 096   959  463 081 0.988 4 919 388 52.8
25 5 0.003 0.014  92 137  1 304  457 423 0.984 4 456 307 48.4
30 5 0.004 0.018  90 832  1 610  450 136 0.981 3 998 884 44.0
35 5 0.004 0.020  89 222  1 814  441 575 0.978 3 548 748 39.8
40 5 0.005 0.024  87 408  2 090  431 815 0.973 3 107 173 35.5
45 5 0.006 0.030  85 318  2 572  420 170 0.964 2 675 358 31.4
50 5 0.008 0.041  82 746  3 397  405 237 0.952 2 255 198 27.3
55 5 0.011 0.056  79 349  4 404  385 734 0.931 1 849 960 23.3
60 5 0.017 0.083  74 945  6 189  359 250 0.902 1 464 226 19.5
65 5 0.024 0.116  68 755  7 956  323 887 0.859 1 104 976 16.1
70 5 0.037 0.170  60 799  10 343  278 140 0.795  781 089 12.8
75 5 0.056 0.247  50 456  12 449  221 159 0.688  502 949 10.0
80 5 0.100 0.399  38 007  15 169  152 112 0.546  281 790 7.4
85 5 0.153 0.544  22 838  12 432  83 110 0.414  129 678 5.7
90 5 0.217 0.677  10 406  7 049  34 409 0.297  46 567 4.5
95 5 0.289 0.783  3 357  2 629  10 213 0.160 d  12 159 3.6

100 ω 0.374 1.000   728   728  1 945  1 945 2.7
Mujeres/Females

0 1 0.029 0.028  100 000  2 845  97 650 0.966 b 7 289 099 72.9
1 4 0.003 0.014  97 155  1 334  385 309 0.990 c 7 191 449 74.0
5 5 0.001 0.005  95 821   464  477 945 0.996 6 806 141 71.0

10 5 0.001 0.004  95 357   347  475 918 0.995 6 328 195 66.4
15 5 0.001 0.005  95 010   519  473 752 0.994 5 852 278 61.6
20 5 0.001 0.007  94 491   685  470 742 0.992 5 378 526 56.9
25 5 0.002 0.009  93 806   850  466 904 0.990 4 907 784 52.3
30 5 0.002 0.011  92 956  1 059  462 132 0.987 4 440 881 47.8
35 5 0.003 0.014  91 897  1 328  456 164 0.984 3 978 749 43.3
40 5 0.004 0.018  90 569  1 599  448 846 0.980 3 522 585 38.9
45 5 0.004 0.022  88 970  1 927  440 032 0.975 3 073 738 34.5
50 5 0.006 0.028  87 043  2 444  429 105 0.966 2 633 706 30.3
55 5 0.008 0.040  84 599  3 365  414 581 0.952 2 204 602 26.1
60 5 0.012 0.057  81 234  4 590  394 694 0.930 1 790 021 22.0
65 5 0.018 0.085  76 644  6 499  366 971 0.896 1 395 327 18.2
70 5 0.027 0.125  70 145  8 793  328 741 0.847 1 028 356 14.7
75 5 0.041 0.185  61 352  11 380  278 310 0.749  699 615 11.4
80 5 0.079 0.330  49 972  16 512  208 582 0.610  421 305 8.4
85 5 0.127 0.478  33 461  16 004  127 292 0.472  212 723 6.4
90 5 0.188 0.624  17 456  10 890  60 057 0.343  85 431 4.9
95 5 0.260 0.746  6 567  4 896  20 593 0.188 d  25 374 3.9

100 ω 0.349 1.000  1 671  1 671  4 781  4 781 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


